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® -15ab + 10a? @ -15ab? + 1042
(@)—15a2b + 104>

(12ab — 18ab?)+6ab — 2a(6ab — 4a)
= 2a® — 3a*b - 12a*b + 8a*
= —15a%b + 10a®




%(12x+24)—%(36—12x):Ax2+3xa}§tq1,A—B94 e
@ 1 @2 ® 3 @ 4 ® 5

B

(F4]) = 247 + 4x - (3x — x?)
=3x2+ x = Ax® + Bx

A=3, B=1

L A-B=2




_-3a+b-~
(] N
\
4b
1
ul n
a” T--5a---
O S = 16ab — b> @S = 16ab — 2b?
® S = 16ab - 3b> @ S = 16ab — 4b?

® S = 16ab — 5b?

~&B

AA% ArtelZe] o] Pol
a+ 5a - (3a+ b) = 3a - bolJt}.

~8 :%{(3a—b)+5a}x4b

= 16ab — 2b*




57. the 183t ol AAZIF ¥ 9] 22 A P, QF FE W,
AAPQ 9] Wol=?
® a®+ab @ a® + 2ab ® a? + 3ab

@ a® + 4ab @aQ + 5ab

~&B ~

1
AABP = 3 % (5b — a) x 4a = 2a(5b — a) = 10ab - 2a*
1 1
AADQ:§X5bx(4a—2a)=§><5b><2a=5ab
1
APCQ:§an2a=a2

- AAPQ = OABCD - (AABP + AADQ + APCQ)
= 5b x 4a — {(10ab - 2a*) + 5ab + a*}

= 20ab — (15ab — a?)

= 20ab — 15ab + a*

= Bab + a®




58. m=-2 < W, 3m(2m - 3) - 2m(2 - 4m) 9] F2?

O-4 @3 0-18 @0 O

B

3m(2m — 3) — 2m(2 — 4m) = 6m> — 9m — 4m + 8m>
= 14m? — 13m
— 14 % (-2)% - 13(-2)
=56 426 = 82




59. x=3,y=2¢%u, (-8x% + 12xy?) + (-2)%xy — (9xy

®-10 @-5 ®-13 @5

- 6y%) + 3y 9

® 10

(=8x%y +12xy%) + (=2)%xy = (9xy = 6y°) + 3y
_ -8x%y+12xy*  (9xy — 6y?)

- 4dxy - 3y

= —2x+ 3y — (3x—2y)

= —-5x + by

x=3,y=2E tYsIH
(-5)x3+5x2=-15+10=-5




60. x=-2, y=3< | o5 49 g2?

(4x+3y—-1) - (-2x+ 4y +5)

@2 @-15 0-9 @15

® 21

dx+3y-14+2x—-4y-5=6x—y—6
=-12-3-6
=-21




61. x=2,y=-5<% o, (12x% - 15xy?) + 3xy & F27

@7 @ 13 ® 26 @ 32 @41

(12x3y — 15xy?) = 3xy = 4x2 — 5y
=4x2%2-5x%x(-h)
=16 + 25 =41




2 2 2. 9.2
62. x——1,y——p g XTI IV o400
Xy y

@1 @)2 ® 3 @ 4 ® 5

B

x2y + 2xy? N x%y — 3y?
Xy y

=x+2y+x*-3y

=-1-4+1+6
=2







64. x=-3 % 1) BL 4 ge?

6+ 2x(x = 2) — 4x% + 2x + x X (=3x)

©_9 @ -6 ® 6 @ 9 ® 12

61+ 2x(x = 2) 42 + 25+ xx (-39
= 6x + 2x% — 4x — 2x — 3x?




65. x=-19 1), o3 4o ge?

4x 4 3x(x—1) — 6x% = 2 + x x (=2x)

© - -2 @- @ —4 ® -5

B

Ax+3x(x = 1) = 6% + 2 + x X (~2x)
= 4x + 3x% - 3x - 3x? — 2x2
=x-2x% = (-1) -2 x (-1)?

=-3




66. a=3, b= % A off, (2ab)? x (—12ab?) + 3a*b 2] FF-2?

® 3 @-3 o6 ®-6  O12

_ 4a®b? x (-12ab®)

(F4) =
3a2b
= —16ab*
1
=-1 —=-3
6% 3 X% 16




2 1 2,4
67. = -1,y =29 m, (30 - Lay)elaety - 22T g
Xy
e

@ -28 @ -26 @ -12 @4 ® 8

B ‘

9xy2 + 12x2y4

(30x3y® — 15x%y)+15x2y —

3xy?
=2xy? - 1-3-4x°
= -2xy°> -4
= 2% (-1)x4-4

:8—4=4




68.

A=x(x-2), B=(2x*+4x>+6x)+2x & T, A- (2B-A) & 19|
SIS W, 7t o] A4eoh A4eate] Tg 77

O -12 @ 12 ® 14 @—14 ® 16

B

A = x2-2x, B = x242x+30°]1L A—(2B-A) = 2A—-2B = 2(A-B)

Jgpe] e —14 o]},




69. A=2x-y, B=-x+2y ¥ W, 24 - 3B & AKX 429

@ x+4y @ x-8y ® Tx+4y
(@)7x—8y ® Tx+2y

2A-3B =2(2x—y) - 3(-x+2y)
= Tx—8y




70.

A=3x-2y, B=2x+y ¥ o, 2(3A-2B)-3(2A-B) E x, y °Il
B 02 epga?

@ 2x+y @—Zx—y ® 5x—y

@ 3x-y ® x-3y

2(3A - 2B) — 3(2A — B) = 6A — 4B — 6A + 3B = -B
B=2x+y°|B2 tstH -B = —2x -y o[t}




71. y=2x-1¥¢ W, x—2y+ 55 xof #3t A= YehfiH?

1

@-4)6—2 @—x—l

® 2x+5
@—3x+7 ® 4x-3

x=2y+5°y=2x-1& Y
x_2(2x—1)+5=x_4x+2+5
=317




72. y:2x+1‘?=_1“41,x—y+4§—x0ﬂ%}§l—/43§q_qq1%?

@ -1 @)—x+3
® 2x+3

@ —-x—2

@ x+1

x—y—|—4°ﬂy:2x+1_§_q]c§
X_(2X+1)+4=x_2x_1+4

=-x+3




73. y = 4x-3%U W, ~4x? + 2y - y & xof B AR Yehd u,
Ax* + Bx+ COlH A+ B+ C 9] gh27?

@ -11 @—3 ® 3 @ 11 ® 13

B ,
y=dx-33 A —4x? + 2xy -yl Hidotd
—4x? 4+ 2x(4x-3) —4x +3

= —4x? +8x% —6x—4x+3
=4x?-10x+3
ZA+B+C=4+4+(-10)+3=-3




74. x=2a-b,y=-3a+bd W, 2x -5y a, bol T3t 202 27

e A9
® 19a-17b @19a—7b ® 19a-3b
@ 19a+ 7b ® 19a + 3b

B

x=2a-bO|BE 2x =2(2a - b) = 4a - 2b
y=-3a+b°|EZE 5y = 5(-3a + b) = —15a + 5b
2x — By = 2(2a — b) — 5(=3a + b)

= 4a - 2b + 15a - 5b

= 19a - 7b




75. T oA A, Bl ekl A = —a+3b, B = 2a—4b + ¢ ¥ T,
2(A+B)—(A+B) & a, b, c ol ¥t A2 LAY

@a—b+c @ 10b-c ® 5a-9b+ 3¢

@ 1la-9b-c¢ ® 9a-11b+c¢

D \
A=-a+3b,B=2a—-4b+c °|B&

2(A+B)-(A+ B)

=2A+2B-A-B

=A+8B

= (-a+3b)+ (2a—4b +¢)

=a-b+c




76. A=2x—y, B=—-x+2y < W], 2A - 3B & AAISt 429

@ x+4y @ x-8y ® Tx+4y
(@)7x—8y ® Tx+2y

2A -3B =2(2x—-y) - 3(—x+ 2y) = Tx - 8y




A=3x-2y, B=2x+y 4, 2(3A-2B)-32A-B) E x, y °l
e Ao YERH?

® 2x+y @—Zx—y

® 5x-y
@ 3x-y

® x-3y

2(3A — 2B) — 3(2A - B) = 6A — 4B — 6A + 3B = -B
et B =2x+y & YSHH -B = —2x -y o|th,




78.

a=x-19 W, 3x +a+ 1 a°ll T3 A o=2 YeEPHH?

D a+2 @ 4a-1

® 4a
@ 4a+3 @4a+4

a=x—-12xZ2 A H x=a+1
Zo Aol chelat

3a+1)+a+1=3a+3+a+1=4a+4°|th




79. 4x-3y+2=>5x-6y+3Y of, 2x -9y + 55 yoll T Ao
LHERH T ?

@—3y+3 @ -7x-4 ® -3y-3
@ Tx-4 ® Tx+4

B ,

4x -3y +2 =5x-6y + 3= x= J2|otH
x=3y—-1

2x — 9y + 5 YA
28y-1)-9y+5=6y—-2-9y+5=-3y+3




80.

x—2y=2x+3y—-1%4 o, o35y ofl T3t A o= Uepd A2
3x+5y -2

@ -10y @ 10y @ 10y +1

@ 10y-1 @—10y+1

B

x-2y=2x+3y-1=x2 A5t
x= -5y + 12 Fol 7 Ajo] 5w
3(-5y+1)+5y—2
=-15y+5y+3-2

=-10y+1




8l. 3(2x-y)=6+4x—y&d W, 2(x-2y) +6y-3 = x o] T Aoz
LrebE?

® 4x+9 @)4x -9 ® 3x+9

@ 3x-9 ® 2x-9

B 1
3(2x-y) =6+4x—ySy = A5t
6x—3y=6+4x-y
2x=2y+6
LXx=y+3
2(x—2y)+6y—3 =2x+2y-3°]|22 ytfAl x- 3 A3
2x +2(x—3) -3 =4x - 90|},




82. 2a=x+1¥4 ", 2x-a+25a° &

D a+1 @ 3a-4

@ a ® 5a

his

2 402 Ly a2

@Sa

2a=x+1S x2 AEtH x=2a-1
o121 Aol 1ot
2(2a-1)-a+2 = 3a°|T}.




83. 3(2x-y)=5+2xL W, 2x-3y+ 12 x 9 4oz YehfH?

@ -2x-6 (@)—2x—|—6 ® -2x-5

@ 2x+4 ® 2x-4

B

3(2x—y) =5+ 2x5 y&E A54A
6x—3y=>5+2x
3y=4x-5

4x -5 _
y= =28 Fol2l 4] st

2x-3y+1=2x—(4x-5)+1
=2x—4x+5+1=-2x+6




84. 2x-y+3=3x-2y+5 U= 0] 8otox? +xy-3 x o WF Ao =
LHERH T ?

@ 3x-3 @ x24+x-3 ® 2x*2+x-3

2x-y+3=3x-2y+55y 2 A2oH y=x+ 20|t}
o131 o] It
x% + x(x+2) -3 =2x% + 2x - 30]T}.




85.

3x+2y=4dx—y+2 Y& 0|8t y2 +2xy— 1Sy of T3H Aoz
LIEFLH?

@ 3y-3 @y +y-3 ® 6y*+6y-3

@ T +7x-3 ©7y2—4y—1

3x+2y=4x-y+2E x 2 Z5tH x = 3y - 20|t}
ol Ajof el
¥ 4+2y(3y—-2)-1=y>+6y>—4y—1

=7 -4y-1




o& e

Al
l

x o gt

=
=

c(x=2y)=7:2 Y o], 4x -8y

©)

)
—X

2
AT

©)

2(x+y)

7(x—2y)

2y
16

5x = 16y, y

2
2

5 5
4x — —x=4x—- —x=
X 8><16x X 2x

co4x — 8y




87.

x=-2y+6 4o, 3x -4y + 15 xof T AoE YEpH 227

® 5x @ 6x ® 5x-3
@ 5x-9 @5)6—11

B

x=-2y+6 2y = AsIH
_ —x+6
YT

o] A& 3x -4y + 1°f HY5HA

3x—4(_x2+6>+1:3x+2x—12+1

=bx—-11




88.

x=y-74 W, 4x-2y+5F x o gt A o= epd

@ 2x @ 3x ® 2x-1

@ 2x-4 ®)2x-9

B

x=y-T=y 2 Q25 y=x+ 70|t}
o131 Aol chefsta
dx—2y+5=4x—-2(x+7)+5
=4x—-2x-14+5
=2x-9




89. —x+2y+2=3y-14 ], 2x—y+3 - x o TS+ 4
©3x @ -3x+1

@ 3x+4 ® -3x+2

—x+2y+2=3y-1=y= AStHy=—x+3
o]z Ao t st

2x—y+3=2x—(-x+3)+3=3x




90.

2x+3y = 3(x—1)+5y & W, xy+y-3 Sy of #3 A& YR fH?

® 2y?-4y-3 @ 2y* +4y+3 ® 2y +4y-3

@ -2y +4y+3 @—2y2+4y—3

2x+3y=3x-3+5y= x=2 AZSIH x=-2y+3
F0171 Alof i dstH
xy+y-3=(-2y+3)y+y-3

=-2y2+4y-3




